H & 0l & AHSH H M A
P5EE X 1 5] UBHEIH IIEFSHEH RN
S RN
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SHol: PEOHZ ALY F (el mel)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
LDt 57,164,779 53,853,426 3,311,353
= 26,202,000 26,202,000 0
| 628,000 0 628,000
= 30,334,779 27,651,426 2,683,353
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SH5tE BN N 38,516,563 37,547,200 969,363
2 26,202,000 26,202,000 0
| 128,000 0 128,000
= 12,186,563 11,345,200 841,363
Delotsd2 B ¥ 220y 29(=21) 192,000 0 192,000
| 128,000 0 128,000
= 64,000 0 64,000
308 XHAISHAISOI R 192,000 0 192,000
g 28,000 0 28,000
< 64,000 0 64,000
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OZeIolsdY HE ¥ TRy 29
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OmE 2T 2LI0DIUBT T4 188,600 0 188,600
ARS DB e 925,000 450,000 475,000
403 RXISHHI S KH20I & 905,000 430,000 475,000
BER TS 905,000 430,000 475,000
02sE[520 RL] 23 FH|
245,000,002 245,000 0 245,000
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